

$t_n = 5, 9, 13, 17, \dots$

$d = 4 \rightsquigarrow t_n = 4n + 1$ (الف)

$t_{10} = 4(10) + 1 = 40 + 1 = 41$ (ب)

$t_n = 4, 10, 16, 22, \dots$ $d = 6 \rightsquigarrow t_n = 6n + 2$

$(t_1 = 4(1) + 2 = 4 + 2 = 6, t_{10} = 4(10) + 2 = 40 + 2 = 42)$ $S_n = \frac{n}{2} (t_1 + t_n) \rightsquigarrow S_{10} = \frac{10}{2} (4 + 22) = 5 \times 26 = 130$ (الف)

مجموعه مشترک: $t_{14}, t_{18}, t_{22}, t_{26} \rightsquigarrow \frac{4}{2} (t_{14} + t_{26}) = 2(118 + 134) = 2 \times 252 = 504$ (ب)

$(t_{14} = 4(14) + 2 = 56 + 2 = 58)$
 $(t_{26} = 4(26) + 2 = 104 + 2 = 106)$

$\frac{a_1}{1 + \sqrt{3}}, \frac{a_2}{2}, \frac{a_3}{3 - \sqrt{3}}$

$d = a_2 - a_1 = a_3 - a_2 = 3 - \sqrt{3} - 2 = 1 - \sqrt{3}$

$a_{25} - a_{22} = a_1 + 24d - (a_1 + 22d) = 2d = 2(1 - \sqrt{3}) = 2 - 2\sqrt{3}$

$a_n = 2^{2x}, 3^x \times 2^{2x}, 2^{2y}$

$a_2 - a_1$

$d = 3^x \times 2^{2x} - 2^{2x} = 2^{2x}(3^x - 1) = 2^{2x} \times 2 \rightsquigarrow (d = a_2 - a_1 = a_3 - a_2) \Rightarrow 2^{2x} \times 2 = 2^{2x}(2^{2y-2x} - 3) = 2^{2x+1} = 2^{2x}(2^{2y-2x} - 3)$

$2^{2y-2x} - 3 = 2 \rightsquigarrow 2^{2y-2x} = 2^1 \rightsquigarrow y - 2x = 1 \Rightarrow y = 2x + 1$

$b_n = x, 2, y \rightsquigarrow d = 2 - x = y - 2 \rightsquigarrow 2 - x = 2x + 1 - 2 \Rightarrow 2 - x = 2x - 1 \rightsquigarrow x = 1, y = 3$

$xy = 1 \times 3 = 3$

$2x - 4, 2x - 1, 4x, \dots$

$d = 2x - 1 - (2x - 4) = 3$ $d = a_2 - a_1 = a_3 - a_2 \rightsquigarrow 4x - (2x - 1) = 2x + 1 = 3 \rightsquigarrow x = 1$

$-3, 0, 3, a_n = 3n - 4 \Rightarrow a_7 = 3(7) - 4 = 17 - 4 = 13$

$a_n = 3, 5, 7, \dots \rightsquigarrow a_n = 2n + 1 \rightsquigarrow a_{10} = 2(10) + 1 = 21$

$b_n = 2, 5, 8, \dots \rightsquigarrow b_n = 3n - 1 \rightsquigarrow b_{10} = 3(10) - 1 = 29$

مجموعه مشترک: $4n - 1 \rightsquigarrow 4n - 1 \leq 21 \rightsquigarrow 4n \leq 22 \Rightarrow n \leq 5$ لا جمله مشترک در $2, 5$ اول a_n و b_n

$(5, 11, 17, \dots)$

$$a_1 + a_r + a_r = 11 \rightsquigarrow a_r - d + a_r + a_r + d = 3a_r = 11 \rightsquigarrow a_r = \frac{11}{3}$$

$$\begin{cases} a_1 = a_r - d \\ a_r = a_r + d \end{cases}$$

$$a_1 + a_r + a_3 = 10d \rightsquigarrow a_r - 2d + a_r + a_r + 2d = 3a_r = 10d \rightsquigarrow a_r = \frac{10d}{3}$$

$$\begin{cases} a_1 = a_r - 2d \\ a_3 = a_r + 2d \end{cases}$$

$$a_1 + a_r + a_3 = 11 \rightsquigarrow a_1 + \frac{10d}{3} = 11 \rightsquigarrow a_1 + \frac{10d}{3} = 11 \rightsquigarrow a_1 = 11 - \frac{10d}{3}$$

$$\frac{a_3 - a_r + a_1}{a_1} = \frac{\frac{10d}{3} - \frac{11}{3} + 11}{11 - \frac{10d}{3}} = \frac{V}{-11} = \boxed{\left(-\frac{1}{11}\right)}$$

$$a_1 + a_r + a_r = 10 \rightsquigarrow a_r - d + a_r + a_r + d = 3a_r = 10 \rightsquigarrow a_r = \frac{10}{3}$$

$$\begin{cases} a_1 = a_r - d \\ a_r = a_r + d \end{cases}$$

$$a_5 + a_9 = 10 \rightsquigarrow a_r + 4d + a_r + 4d = 2a_r + 8d = 10 + 4d = 10 \rightsquigarrow d = \frac{10}{2} = 5$$

$$\begin{cases} a_5 = a_r + 4d \\ a_9 = a_r + 4d \end{cases}$$

$$r, d, \Lambda, \dots \quad a_n = 10n - 1 \rightsquigarrow a_{10} = 10(10) - 1 = 100 - 1 = \boxed{99}$$

$$a_1 + a_r + a_r = a_r - d + a_r + a_r + d = 3a_r$$

$$\begin{cases} a_1 = a_r - d \\ a_r = a_r + d \end{cases}$$

$$a_1 + a_r + a_r + \dots + a_9 = 9a_5$$

$$5r = 9S_5 \rightsquigarrow 9a_5 = 9 \times 3a_r \rightsquigarrow a_5 = 3a_r \rightsquigarrow a_r + 4d = 3a_r \rightsquigarrow 2a_r = 4d \rightsquigarrow a_r = 2d$$

$$\frac{a_9}{a_5} = \frac{a_r + 4d}{a_r + d} = \frac{a_r + 4(2a_r)}{a_r + 2(2a_r)} = \frac{a_r + 8a_r}{a_r + 4a_r} = \frac{9a_r}{5a_r} = \frac{9}{5} = \boxed{\frac{9}{5}}$$

$$\frac{r}{d} a_r = d$$

$$t_1 = 11, t_v = 10d \rightsquigarrow t_v - t_1 = t_1 + 4d - t_1 = 4d = 10d - 11 = 2d \rightsquigarrow d = 11$$

$$t_n = 14n + 11 \rightsquigarrow t_f = 14(4) + 11 = 56 + 11 = 67$$

$$a_1 = 11, a_f = 67 \rightsquigarrow a_f - a_1 = a_1 + 4d' - a_1 = 4d' = 67 - 11 = 56 \rightsquigarrow d' = 14$$

$$-d = \frac{14 - 11}{n-1} \rightsquigarrow -d = \frac{3}{n-1} \rightsquigarrow -d(n-1) = 3 \rightsquigarrow n=4 \Rightarrow a_1, a_2, a_3, a_4 \text{ واصل مسابقي } 11, 14, 18, 22$$